JRE B ERE X 3R

BEBEEFORE - BiE - LH 0K (BfZ: 1) SHE
B = U

BiE | Rft | & | BEHE RN |

3,540 16/ 3,556 1,672 4| 1,676
5y AER

RECH VYA ER SEAIE R Bt

BiE | Rft | & | BEHE| R | & | B&EHE| R | & | B%E®E| R | &
0 0 0| 349 0] 349 1,692 15 1,707 2,041 15| 2,056

KRB HENSEEEDEHD MEBIE—HE L2V, HE BisHS2RE% . BB A M
PRELTWATD

HEBEEFORR
ER & WEEH - mEH R - by =
HEsE | [R{ B BHEzE | [R{T B
ETE 1,735 19 2 21 452 1 453
BT B | 1,401 48 2 50 547 0 547
BEE 944 41 2 43 724 5 729
AEEER| 2,156 34 0 34 626 3 629
=B 486 14 1 15 98 0 98
A% BF A 300 5 0 5 110 0 110
7R /AT 50 0 0 0 28 1 29
z 0 th 100 123 5 128 955 6 961
& &t 7,172 284 12 296| 3,540 16| 3,556

R INA BT, RO BinBEE S Qi ES OGN A RE B A &5 L-b D
*EHIT. STSEI0H OFZICHEL-LO

—169—




